Spacer (if req'd)

MAILBOX

Ground line

250 Max.

Nominal 100 x 100 __—]

post (treated)

WITH WOOD POST

Details above platform same as
shown above with wood post.

Platform

Bracket

Nominal 50 std. galv.

L—" pipe (60 0D)

&

(@] (o]

/ Anti-twist plate

o
o

b

WITH PIPE POST

x 20 hex cap screw with 2 M10 flat washers,
lock washer and M10 hex nut.

x 120 hex cap screw with 2 M10 flat washers,
lock washer, and M10 hex nut.

x 80 hex cap screw with 2 M10 flat washers,
lock washer, and M10 hex nut.

LEGEND

@ M4 x "L" truss head machine screw with 2 M4
flat washers, M4 lock washers, and M4 hex nut.

®@ M10
® M10
(@ M10

() Nominal 60 muffler clamp

All dimensions are in mm unless otherwise specified.

INDIANA DEPARTMENT OF TRANSPORTATION

SINGLE MA

ILBOX ASSEMBLY

| Source Sheet:

MH3

APRIL 1995
STANDARD DRAWING No. 611—MBAS-01
SN ey,
S ’3?'«5,\51‘%‘?6 %,
" No. % s/ Anthony L. _Uremovich 4-03-95
180é5 DESI GN STANDARDS ENG NEER  DATE
. STATE OF /’#/
., BN
iy ,ﬁ',ﬁ’;f‘;x@ s/ Donald W. Lucas _ 4-03-95
e CHI EF H GMAY ENG NEER DATE
[DES| GN STANDARDS ENG NEER




	BACK

